
 

These numbers are correct to 3 Sig fig
Find upper and lower bounds for them

45.25 E 45.3 C 45.35

7405 E 7410 7415
53550 E 53600 C 53650

0.01225 E O 0123 L 0.01235

5 865 E 5.87 5.875

0.6105 E 0.611 0.6115

48.45 E 48.5 48.55

989.5 E 990 990.5

16750 E 16800 C 16850

Blue Books Ex 23A

D b il 5g E 120g 125g neTogest

d 49.5nphE 50 pl 50.5 mph nearest
mph

f 16.75cmE 16.8cm C 16.85cm nearest
tenth em

L 4450 14500 C 14550 negorgh

Review of Bounds



j 52.514 55 niles L 57.5 miles Fifty

a 6.5cm E 7cm 7 g nearest
cm

C 3350km E 3400km L 3450km hearat
lookin

e 25.50 E 26 C EG 50

nepoy.IS15.5kg E 16kg 16.5kg nearest
kg

i 54 5 miles 55 nibs E 55.5 niles hearst
hehe

2b 17 kg 2 s.f

16.5kg E 17kg C 17 5kg

Zd 238 kn 3 S f

237.5kt 238 kn C 238.5km

2 a 6cm 1st

5 5C E 6cm 6 s c


